

$$\vec{AL} = a \vec{AD} \quad \vec{AP} = a \vec{AB} \quad \vec{CK} = a \vec{CG} \quad (1)$$

$$\begin{aligned} \textcircled{1} \text{ a) } \vec{EP} \cdot \vec{EL} &= (\vec{EA} + \vec{AP}) \cdot (\vec{EA} + \vec{AL}) = \|\vec{EA}\|^2 + \vec{EA} \cdot \vec{AL} + \vec{AP} \cdot \vec{EA} + \vec{AP} \cdot \vec{AL} \\ &= 1 + a \vec{EA} \cdot \vec{AD} + a \vec{AB} \cdot \vec{EA} + a^2 \vec{AD} \cdot \vec{AD} \\ &= 1 + 0 + 0 + 0 = 1 \end{aligned}$$

$$\text{b) } \vec{EP} \cdot \vec{EL} = \|\vec{EP}\| \|\vec{EL}\| \cos(\vec{EP}, \vec{EL}) = \|\vec{EP}\| \|\vec{EL}\| \cos(\widehat{PEL})$$

$$\|\vec{EP}\| = \|\vec{EA} + \vec{AP}\| = \|a \vec{AB} + \vec{AE}\| = \sqrt{a^2 + 1}$$

$$\|\vec{EL}\| = \|\vec{EA} + \vec{AL}\| = \|a \vec{AD} - \vec{AE}\| = \sqrt{a^2 + 1}$$

$$\text{Donc } \vec{EP} \cdot \vec{EL} = \|\vec{EP}\| \|\vec{EL}\| \cos(\widehat{PEL}) = 1 = (a^2 + 1) \cos(\widehat{PEL})$$

$$\text{Donc } \boxed{\cos(\widehat{PEL}) = \frac{1}{a^2 + 1}}$$

$$\text{c) } \sin^2(\widehat{PEL}) + \cos^2(\widehat{PEL}) = 1 \quad \Leftrightarrow \sin^2(\widehat{PEL}) = 1 - \cos^2(\widehat{PEL})$$

$$\Leftrightarrow \sin^2(\widehat{PEL}) = 1 - \frac{1}{(a^2 + 1)^2} = \frac{(a^2 + 1)^2 - 1}{(a^2 + 1)^2} = \frac{a^4 + 2a^2 + 1 - 1}{(a^2 + 1)^2}$$

$$\Leftrightarrow \sin^2(\widehat{PEL}) = \frac{a^4 + 2a^2}{(a^2 + 1)^2} = \frac{a^2 \cancel{a^2} + 2a^2}{(a^2 + 1)^2}$$

$$\text{Donc } \sin(\widehat{PEL}) = \sqrt{\frac{a^2(a^2 + 2)}{(a^2 + 1)^2}} = \frac{a \sqrt{a^2 + 2}}{a^2 + 1}$$

$$\begin{aligned} \text{d) Aire du Triangle ELP} &= \frac{1}{2} \|\vec{EL}\| \|\vec{EP}\| \sin(\widehat{PEL}) \\ &= \frac{1}{2} (a^2 + 1) \times \frac{a \sqrt{a^2 + 2}}{a^2 + 1} \\ &= \boxed{\frac{a \sqrt{a^2 + 2}}{2}} \end{aligned}$$

$$\begin{aligned} \text{e) } \vec{AK} \cdot \vec{EP} &= (\vec{AB} + \vec{BC} + \vec{CK}) \cdot (\vec{EA} + \vec{AP}) \\ &= \vec{AB} \cdot \vec{EA} + \vec{AB} \cdot \vec{AP} + \vec{BC} \cdot \vec{EA} + \vec{BC} \cdot \vec{AP} + \vec{CK} \cdot \vec{EA} + \vec{CK} \cdot \vec{AP} \\ &= 0 + 0 + 0 + 0 + 0 + \vec{CK} \cdot \vec{EA} + \vec{AB} \cdot \vec{AP} \\ &= -a + a = 0 \end{aligned}$$

Donc la droite (AK) est orthogonale aux droites (EP) et (EL)

